3.
Consider an economy that produces only two goods, computers and 
          television sets in 1995 and 1996.
 
         

    Output
     Prices
         Nominal GDP
           Real GDP

        

1995    1996
   1995  1996           1995      1996         1995     1996
 
 

 
Computers:
100
200
  $1,000   $500      
 
TV Sets:      1,000     800        $500   $600      
 
 
a.
Fill in the table to calculate nominal and read GDP for each year, using 1995 as the base year.  
 
b.                  Use the growth rate formula to calculate the 1995-96 percentage
Rates of change in:
 
1)     Nominal GDP = 
 
 
 
2)     Real GDP = 
 
 
 
 
3)     Implicit Price Deflator =
 
